

$$\alpha + \beta = \omega$$

$$\beta^{\omega} = \beta^{\nu} \times \beta^{\nu}$$

$$\varepsilon \alpha + \beta^{\omega} = \varepsilon(\omega - \beta) + (1 + \beta - \varepsilon \gamma)$$

$$\omega \beta^v = \omega (\omega \beta - v) = v \omega \beta - 1.$$

$$\frac{\epsilon \alpha + \beta^\omega}{\omega \beta^r} = \epsilon$$

$$K = \frac{W_f - 1.0}{r} = \frac{1.0}{1.0} \times K = 1.0$$

$$\mathcal{H}^* + \gamma R \mathcal{H} + \Omega = 0$$

$$\frac{\sqrt{\Delta}}{|a|} = \frac{\varepsilon}{\mu} k$$

$$\sqrt{\epsilon k^2 - \mu} = \sqrt{k^2 - 0} = \frac{c}{\hbar} k$$

$$\frac{r}{g} k^r = k^r - \omega \quad \frac{\partial}{\partial g} k^r = \omega \quad k \pm r$$

$$\sum = -r$$

$$\frac{-2 + w}{4} = -1$$

$$\alpha^r + \beta^r = S^r - \nu \rho$$

$$\alpha^r + \beta^r = \varepsilon + \rho = \omega \rightarrow \rho = -\frac{1}{r}$$

$$\kappa \left(x^r + \frac{1}{x} \right)$$

$$OK \left(1 + r - \frac{1}{r}\right) = a = \frac{-r}{r}$$

$$\frac{-v}{r} x^v + \left(\frac{-v}{r} \right) x^v + -\frac{1}{v} x - \frac{v}{r}$$

۱۳۱ - عرض از مبدا^۹

$$K = -\omega \pm \sqrt{\omega^2 - (-1)^m} < \frac{q}{v} \Rightarrow \pm \sqrt{\omega^2 + m} < \frac{q}{v}$$

305

$$0 < \mu_0 + \epsilon m < 14 \rightarrow -\mu_0 < \epsilon m < -9 \rightarrow \frac{-\mu_0}{\epsilon} < m < \frac{-9}{\epsilon}$$

$$-\sqrt{V_A + \epsilon_m} < \epsilon \quad \checkmark$$

7-49-09 - 89-127 175

جون لاپت اور نون کا پائیس

$$\gamma_s = \frac{-\Delta}{\xi_a} = \frac{-188 + 2 \cdot m^2 - 5m}{5m}$$

$$y = 10x^4 - 142x + 19$$

$$\frac{12}{4} = 3$$

$$\begin{aligned} p \cdot m^2 - 12m - 18 &= 0 \\ \omega m^2 - \psi m - \psi &= 0 \\ (m - \psi) (\omega m + 10) &= 0 \\ m &= \psi \end{aligned}$$

$$m = w$$

$$\frac{C}{A} \quad a^r = \alpha \beta$$

8 V

$$\alpha \beta = r a - 1 \xrightarrow{\alpha \beta = a^r}$$

$$a^r - r a + 1$$

$$(a-1)^r \quad a=1$$

8 A

$$S = 0 \quad t^r - v t - \Delta = 0$$

$$x^r = t \geq 0 \quad x^r = t_1 > 0 \Rightarrow \pm \sqrt{t_1} \quad \left\{ \begin{array}{l} S = 0 \\ p = \sqrt{t_1} \times -\sqrt{t_1} = -t_1 \quad p^r = t_1^r \end{array} \right.$$

$$t^r - v t - \Delta = 0$$

$$t = \frac{v \pm \sqrt{v^2 + 4\Delta}}{2}$$

$$p^r = \frac{1}{\varepsilon} (\varepsilon q + \varepsilon q + 1 \pm \sqrt{4q})$$

$$\Delta q + v \sqrt{4q}$$

$$\frac{\omega q + v \sqrt{4q}}{r}$$

$$k_s \frac{\varepsilon}{rk} = \frac{r}{k} \quad y_s = R \times \frac{\varepsilon}{k^r} - \frac{\Lambda}{k} - \varepsilon = \frac{-\varepsilon}{k} - \varepsilon$$

89

$$y = -\varepsilon k - \varepsilon \rightarrow y = (k^r) \left(\frac{r}{k} \right) - \varepsilon = \frac{-\Lambda}{k} - \varepsilon$$

$$\rightarrow \frac{-\Lambda}{k} - \varepsilon = \frac{-\varepsilon}{k} - \varepsilon$$

$$\frac{-\varepsilon}{k} = -\varepsilon \rightarrow \frac{\varepsilon}{k} = \varepsilon \rightarrow k = r$$

$$y = r k^r - \varepsilon k - \varepsilon \rightarrow \begin{array}{l} k_s = 1 \\ y_s = -\Lambda \end{array}$$

$$-m k^r + m k + 1 = -m - k \rightarrow m k^r - (m+1) k - m - 1 = 0$$

8 10

$$\Delta = (m+1)^r - \varepsilon m (-m-1) < 0$$

$$\Delta = m^r + 1 + r m + \varepsilon m^r + \varepsilon m = \omega m^r + \gamma m + 1$$

$$\omega m^r + \gamma m + 1 < 0$$

$$(\omega m + 1)(m+1) < 0$$

$$-1 < m < -\frac{1}{\omega}$$

$$\begin{array}{c|c} -1 & -\frac{1}{\omega} \\ \hline + & - \\ \hline 0 & 0 \end{array}$$